HWDrive CANE(SHMY
ifF LiRIEX

CANFRRFF: 0x100+E31FI1D
Wit&=: DATA

RSB PR

DLC: 8%+

BBIEIDA1~8, B EEREH—ID, HEEKREFXEE

RYHNE:
4730 S
DATA[O] A HUMAEL5:8]
DATA[1] A HMAEL7:0]
DATA[2] B FIEIR(15:8]
DATA[3] e FHEIR[7:0]
DATA[4] FEYETN=[15:8]
DATA[5] FEIETIE[7:0]
DATA[6] EEIEIRE7:0]
DATA[7] reserved

HEFHIAE 6T SEEL, $$0,65536)$ $XIMSEFRAEES0,2\pi)rad$
BEFIEEN 1 6 A RFE RS, $[-32768,32768)$X3 RitEiES$[-400,400) rad/s$
FEIEIIER 1 6 RS, $[-32768,32768)$XFRIAEES[-1000,1000) W$
EBIEREASARA S, BRaSIEIA, BA°C,

IS

switch (hcan->pRxMsg->stdid){
case 0x101:
{
HW_Motor.mechTheta = (((hcan->pRxMsg->Data[0]) << 8) | (hcan-
>pRxMsg->Datal[l])) / 65536.0f * 2.0f *3.141592653f;
HW_Motor.w = (intl6_t) (((hcan->pRxMsg->Data[2]) << 8) | (hcan-
>pRxMsg->Data[3])) / 32768.0f * 400.0f; //rad/s
HW_Motor.Pbus = (intl6_t) (((hcan->pRxMsg->Data[4]) << 8) |
(hcan->pRxMsg->Data[5])) / 32768.0f * 1000.0f;//watt
HW_Motor.temprature = (hcan->pRxMsg->Data[6]);//TC
3


af://n0
af://n2
af://n43

IR

EFEEKIXEREERETIIES, EHERA16(BFFSEE, $-32768,32768)$XINELREMIR
$[-100,100)A%$

FRIREL20ms R EIEHIIE SN dIeRTE
OXFFIRSZIZHIEBAL1~4, 0x1008RSZIEHIEEH15~8
CANFRIRAF: OXFF

mefszl: DATA

MESREY: AR

DLC: 8FT5
ity AE Ea#/lID
DATAI0] IR RMEL15:8] 1
DATA[1] IR EL0:7] 1
DATA[2] IR R AL 15:8] 2
DATA[3] FEHIERIREL0:7] 2
DATA[4] IR EL15:8] 3
DATA[5] EHIERIRMEL0:7] 3
DATA[6] I RMEL15:8] 4
DATA[7] IR EL0:7] 4

CANFRIRAF: 0x100
mitg=t: DATA

MEREY: AR

DLC: 8%FT5
4730 S EaHlID
DATA[0] IR EL15:8] 5
DATA[1] FEHIEEREL7:0] >
DATA[2] IR REL15:8] 6
DATA[3] FEHIEE AL 7:0] 6
DATA[4] IR R AL 15:8] 7
DATA[5] EHIERIREL7:0] 7
DATA[6] IR EL15:8] 8

DATA[7] EHERIREL7:0] 8
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